
Math Olympiad (Class 7th) 

Total Marks: 30                                             2022-23                  Time: 1 Hour 

 

Name: District: 

Father’s Name Block: 
Class: Village: 

School Name: Date: 
not: hryk pRSn nUM iDAwnpUrvk piVAw jwvy[hryk pRSn 1 AMk dw hY[ hryk pRSn dy a`qr leI cwr ivklp hn ijMnHW 

iv`coN kyvl ie`k TIk hY[shI ivklp A`gy shI (  ) dw inSwn lgwau[ 
Note: Read all the questions carefully. Each question carries 1 mark. There are four options for each question out 

of which only one is correct. Put a tick (  ) mark on the correct option. 
 

1.  ‘iksy sMiKAw dy do iqhweI iv`c 5 joVn qy 15 pRwpq huMdw hY’- ies leI hyT ilKIAW iv`coN shI smIkrx cuxo[ 
 ‘ On adding 5 to  two third of a number, we get 5.’ – Choose the correct equation from the following  : 

             a)  5x+ 
2

3
 =15  b) 

2

3
 x+  5 =15  c) 

2

3
 x+  15 =5  d) 15x+ 

2

3
 =5 

2.  mu`l pqw kro: / Find the value of: 4
3

5
×

15

22
× 20

1

6
× 1

1

3
 

             a)84
1

3
   b) 84

2

3
   c) 84   d) 82

2

3
  

3. hyT ilKIAW ivc̀oN ikhVw shI hY? Which of the following is correct? 

            a) 0.813 < 0.732 < 0.638 < 0.512   b) 0.658 < 0.732 < 0.512< 0.813 

           c) 0.512 < 0.658 < 0.732  < 0.813                              d) 0.512 < 0.732 < 0.658 < 0.813 

4. mu`l pqw kro: / Find the value of:  
0.6

0.06
 −  

0.06

0.6
  

       a) 10.1        b) 9.9       c) 9.0      d) 10.01 

5.  ie`k pRIiKAw iv`coN pws hox leI 35% AMk cwhIdy hn[ hrjIq ny 80 AMk pRwpq kIqy Aqy auh 60 AMkW nwl Pyl ho 
igAw[pRIiKAw dy kul AMk pqw kro[ A student has to secure 35% marks to pass an examination. Harjeet obtained 

80 marks in this exam and failed by 60 marks. Find the maximum marks. 
      a) 200       b) 400      c)300        d) 100 

Q6: ic`qr iv`c AB ∥ CD hY[ hyT id`qy kQnW nUM iDAwn nwl pVo: 
kQn  1: id`qy gey ic`qr iv`c d Aqy a iekWqr kox hn[ 
kQn 2: id`qy gey ic`qr iv`c  kox f Aqy h brwbr hn[ 

     hyT ilKIAW iv`coN shI ivklp cuxo: 
    In the figure AB ∥ CD. Study the given statements: 

Statement 1: d and a   are  alternate  angles. 

Statement 2: Angles f and h  are equal. 

Choose the correct option: 

a) doNvy kQn s`c hn/Both statements are true. 

b) kQn 1 s`c hY Aqy kQn-2 JUT hY[Statement 1 is true and statement -2 is false. 

c) kQn-1 JUT hY Aqy kQn-2 s`c hY[Statement 1 is false and statement -2 is true. 

d) doNvy kQn JUT hn Both statements are false. 
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Q7: 22
1

2
 Aqy 10 dw guxnPl hyT ilKIAW iv`coN ikhVIAW do sMiKAwvW dy ivckwr siQq hY? 

     Product of  22 
1

2
  and 10 lies between which of the following two numbers? 

a) 3 and 7           b) 21 and 25        c) 218 and 222  d) 223 and 227 

 

Q8: 
−4

5
÷ 0 = ______ 

       a) 
−5

4
           b) 0          c)  pirBwiSq nhIN/Not Defined           d) 

−4

5
 

Q9: ie`k jmwq dy 1/5 ividAwrQI  bwsktbwl  Kyfdy hn Aqy bwkI bcy ividAwrQIAW dw 1/6  ividAwrQI  Putbwl  
Kyfdy hn[ jykr ies jmwq dy 20 ividAwrQI kuJ vI nhIN Kyfdy qW jmwq dy kul ividAwrQIAW dI igxqI pqw kro[ 

       1/5 of students of a class play  Basket Ball and 1/6 of the remaining students  play Football. If 20 students of this 

class do not play any game, find the total number of students in this class. 

a) 30  b) 40   c) 60   d) 31 

Q10. ivAMjk nUM srl kr ky ilKo: Simplify the expression:       – 3 [ 2 (y+1) + 3 ] – 5   

     a) 6y-20   b) -6y  c) 6y+20  d) -6y-20 

Q11. ie`k qwr dI lMbweI (3x-27 ) mI. hY[ ies nUM iqMn brwbr tukiVAW iv`c k`itAw jWdw hY[ hryk tukVy dI lMbweI pqw kro[ 
     Length of a wire is (3x-27) m . it is cut into three equal pieces. Find the length of one such piece. 
     a) (x-27)m  b) (x-18)m c) (x-9)m d) (x-3)m 

 

Q12. id`qy gey ic`qr iv`c GxW dI igxqI pqw kro[ 
      Find the number of cubes in the given figure 

 

 
 

         a) 10   b) 11    c) 9  d) ਇਹਨਾਂ ਵ ਿੱ ਚੋਂ ਕ੅ਈ ਨਹੀ (none of these) 

Q13. id`qy gey ic`qr iv`c AD=CD Aqy AB=CB hY qW hyT ilKIAW iv`coN ikhVw shI hY?  

a)∆ ABD ≅ ∆ BCD            b) ∆ ABD ≅ ∆ CBD    

c) ∆ ABD ≅ ∆ DBC   d)  ∆ ABD ≅ ∆ DCB 

 

Q14: ਵਦਿੱ ਤ੃ ਵਚਿੱ ਤਰ ਵ ਿੱ ਚ ਜ੃ਕਰ ∠1 + ∠2 = 80° ਹ੄ ਤਾਂ ∠4 ਦਾ ਮਾ਩ ਩ਤਾ ਕਰ੅। 
      In the following figure, if ∠1 + ∠2 = 80°, then the measure of ∠4 is equal to: 
      a) 500  b) 1000  c) 1400  d) 1300 

 

Q15: jykr ie`k kox Awpxy sMpUrk kox dy du`gxy qoN 360 G`t hovy qW iehnW iv`coN v`fw kox ikhVw hY? 
        If an angle is 360 less than twice of its supplement then the greater angle is _____. 

        a) 720  b) 1000  c) 1080  d) 1000 

 

Q16.pihlIAW 6 pUrn sMiKAwvW dw m`Dmwn pqw kro[Find the Mean of first six  whole numbers. 

        a) 2   b) 2.5  c)3  d) 3.5 
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Q17. ie`k ArD  ck̀r dIAW ikMnIAW smimq ryKwvW huMdIAW hn? 
       How many lines of symmetry does a semicircle have? 
        a) 0   b) 1  c)3  d) 3.5 

Q18. smkoxI iqRBuj iv`coN smkox bnwaux vwlI ie`k Bujw dUsrI Bujw dI 75% hY Aqy iqRBuj dw pirmwp 204 sm hY[sB qoN 
CotI Bujw pqw kro[ 

        In a right angled triangle one of the sides making right angle is 75% of the other and perimeter of the triangle is 
204 cm. Find its smallest side. 

        a) 85 cm   b) 17 cm c)68 cm  d) 51 cm 

 

Q19) ic`qr iv`c CwieAw AMikq Bwg dw KyqrPl pqw kro[(𝜋 = 3.14) 
         Find the area of the shaded region in the given figure. (𝜋 = 3.14) 

        a) 7.36 m2    b) 7.26 m2   
        c) 7.29 m2    d) 7.06 m2 
          
      

Q20) . ਵਦਿੱ ਤ੃ ਵਚਿੱ ਤਰ ਵ ਿੱ ਚ ਜ੃ਕਰ AB = AC ਅਤ੃ BD = DC ਹ੄ ਤਾਂ ∠ADC =? 

           In the given figure, if AB = AC and BD = DC then ∠ADC = ?  

           a) 45°  b) 60°  c) 125°  d) 90° 

 

Q21) ie`k rwSI nUM ie`k ivAkqI ਆ਩ਣ੃ ਬ੃ਟ੃ ਅਤ੃ ਬ੃ਟੀ ਨੂੂੰ  4:3 ਦ੃ ਅਨੁ਩ਾਤ ਵ ਿੱ ਚ  ੂੰ ਡdw hY[ jykr bytI nUM 21000 ru: imly hox 

qW byty nUM imlI rwSI pqw kro[    
A father divides a sum  in the ratio 4: 3 between his son and daughter. If his daughter got Rs 21000, then find 

the  share of his son. 

          a) Rs. 28000  b) Rs. 18000  c) Rs. 49000  d) Rs. 27000 

Q22) ie`k sMiKAw dUjI sMiKAw qoN 10% v`D hY  qW dUjI sMiKAw pihlI sMiKAw qoN ikMny pRqISq G`t hY? 
       A number is 10%  more than the second number. Then by how much percentage  the second number is less 

than the first number?  

           a)10%   b) 10
1

11
%  c) 9

1

11
%   d) 9% 

Q23) ਇਿੱਕ ਰਾਸ਼ੀ ‘ਤ੃ 18 mhIinAW  ਦਾ 8% ਦੀ ਦਰ ਨਾਲ ਸਾਧਾਰਨ ਵ ਆਜ 420 ਰੁ਩ਏ ਹ੄। ਰਾਸ਼ੀ ਩ਤਾ ਕਰ੅। 
        On an amount,  simple interest of 18 months at 8% per annum is Rs. 420. Find the principal. 

          a) Rs. 3500  b) Rs. 4200  c) Rs. 5250  d) Rs. 6300 

Q24) ਜ੃ਕਰ 10.25 ਰੁ਩ਏ ਩ਰਤੀ  ਰਗ ਮੀਟਰ ਦੀ ਦਰ ਨਾਲ 30 ਮੀਟਰ ਲੂੰ ਬ੃ ਆਇਤਾਕਾਰ ਩ਲਾਟ ਤ੃ ਟਾਈਲਾਂ ਲਗਾਉਣ ਦਾ ਖਰਚਾ 5227.50 ਰੁ਩ਏ 

ਹ੄ ਤਾਂ ਩ਲਾਟ ਦੀ ਚ੆ੜਾਈ ਩ਤਾ ਕਰ੅। 

If the cost of tiling a rectangular plot 30 m long at the rate of Rs. 10.25 per m2 is Rs. 5227.50. Find the breadth of this plot. 

a) 20 m   b) 25 m   c) 50 m   d) 17 m 
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Q. 25) ਜ ੇਕਿਸੇ ਿ੉ਡ ਭਾਸ਼ਾ ਕ ਿੱ ਚ HOME ਨ ੂੰ  ERJH ਕਿਕਿਆ ਜਾਂਦਾ ਹੈ, ਤਾਂ ਉਸੇ ਭਾਸ਼ਾ ਕ ਿੱ ਚ ROSE ਨ ੂੰ  ਕਿ ੇਂ ਕਿਕਿਆ ਜਾ ੇਗਾ? 

If in a code language HOME is written as ERJH, then in same code how will ROSE be written? 

a) OPRH    b) ORPH     c) OHPR    d) ORHP 

Q. 26) ਉਹ ਵਚਿੱ ਤਰ ਚੁਣ੅ ਜ੅ ਵਦਿੱਤ੃ ਩੄ਟਰਨ ਨੂੂੰ  ਩ੂਰਾ ਕਰ੃। 

Identify the figure that completes the pattern. 

 

 

 

 

Q. 27) Choose the correct mirror-image of the figure (x) from amongst the four alternatives (a), (b), (c), (d) given along with it.   
ਵਦਿੱ ਤ੃ ਗਏ ਚਾਰ ਵ ਕਲ਩ਾਂ (a), (b), (c), (d) ਵ ਿੱ ਚੋਂ ਵਚਿੱ ਤਰ (X) ਦਾ ਸਹੀ ਸੀਸਾ-ਵਚਿੱ ਤਰ ਚੁਣ੅। 

 

 

 

 

Q. 28) Which will be next leap year after 2020? 

2020 ਤੋਂ ਬਾਅਦ ਅਗਲਾ ਲੀ਩ ਦਾ ਸਾਲ ਵਕਹੜਾ ਹ੅ ੃ਗਾ? 

a) 2026   b) 2029   c) 2103   d) 2024 

Q. 29) ਜ ੇਦਿੱ ਿਣ–ਪ ਰਬ, ਉੱਤਰ ਬਣ ਜਾਂਦਾ ਹੈ,  ਉੱਤਰ-ਪ ਰਬ, ਪਿੱ ਛਮ ਬਣ ਜਾਂਦਾ ਹੈ ਅਤ ੇਇਹ ਪਰਕਿਰਆ ਜਾਰੀ ਰਕਹੂੰ ਦੀ ਹ ੈਤਾਂ ਅਸਿ ਪਿੱ ਛਮ ਿੀ ਬਣੇਗਾ? 

If South- East becomes North, North- East becomes West and this trend is continued, what will the original West become? 

a) ਉੱਤਰ-਩ੂਰਬ (North- East)             b) ਦਿੱ ਖਣ-਩ੂਰਬ (South-East)  

c) ਦਿੱ ਖਣ (South)      d) ਦਿੱ ਖਣ-਩ਿੱਛਮ (South-West) 

Q. 30) ਵਦਿੱ ਤੀ ਗਈ ਲੜੀ ਵ ਿੱ ਚ ਖਾਲੀ ਥਾਂ ਭਰ੅: Choose the correct option to fill the blank space: 
     40, 39, 41, 38, 42, 37, 43,____ 
a) 34   b) 36   c) 40   d) 50 

 

https://www.studyadda.com/question-bank/6th-class/mental-ability/numbers/number-series/5079
https://www.studyadda.com/question-bank/6th-class/mental-ability/numbers/number-series/5079
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